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SEASON 6 – ROUND TWO – 100 points
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While walking on the street, Ivancho found a permutation (shuffling) of the numbers from 1 to N. He has no urgent tasks so he wonders if he can add the next number N+1 so that the new permutation contains exactly M inversions.
An inversion is every pair i, j for which i<j and Ai>Aj is true.

Input
The first line of the input file add.in contains two integers N and M, the next line contains N integers Аi – the numbers in the permutation.

Output
In the output file add.out write the new permutation. If such a permutation does not exist, output “Impossible” without the quotes.

Constraints
1 ≤ N ≤ 1000
0 ≤ M ≤ 106
0 ≤ Ai < N

[bookmark: _GoBack]Time limit: 0.5 sec
Memory limit: 256 MB

Example
	Input (add.in)
	Output (add.out)

	4 5
1 4 2 3
	1 5 4 2 3


	3 0
1 3 2
	Impossible
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